12/11/14

THM 415: Finance

Midterm Exam

1. Explain how “Compensation Plans” help reduce the “Agency Problem” in a company? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

2. Sosa Holiday Village had recorded the following accounts sorted in alphabetical order:

	Accounts Payable
	$750,410.00

	Accounts Receivable
	$1,375,892.00

	Accrued Expenses
	$35,350.00

	Accumulated Depreciation
	$5,444,333.00

	Cash
	$6,050,010.00

	Common stock - Par Value
	$4,250,000.00

	Cost of Goods Sold
	$3,030,333.00

	Gross Plant & Equipment
	$9,999,999.00

	Interest Expenses
	$487,660.00

	Inventory
	$617,145.00

	Long-term Debt
	$2,250,000.00

	Marketable Securities
	$323,323.00

	Operating Expenses
	$1,010,245.00

	Other Current Assets
	$40,200.00

	Paid in Capital
	$2,000,000.00

	Retained Earnings (01/01/2013)
	$1,418,534.49

	Sales
	$9,890,975.00

	Short-term Notes
	$400,500.00


Moreover, since Sosa Holiday Village owns 48 % shares of BJK Company, it is entitled to $ 1,325,777 of dividends income from that very company.

The following table reveals Income Tax Rates for Corporate Income for 2013 fiscal year:

	Taxable Income
	Marginal Tax Rate

	
	

	$ 0 – $ 400,000
	20%

	$ 400,001 - $ 850,000
	22%

	$ 850,001 - $ 1,250,000
	26%

	$ 1,250,001 - $ 2,200,000
	31%

	$ 2,200,001 - $ 3,890,000
	33%

	Over $ 3,890,000
	38%


Lastly, the following table shows dividend income exclusion to avoid double taxation at corporate level.

	Ownership Interest
	Dividend Exclusion

	 
	

	Less than 15 %
	25%

	15 % to 29 %
	45%

	30 % to 45 %
	65%

	46 % to 82 %
	88%

	83 % and more
	100%


a) Construct Sosa Holiday Village Income Statement for the year ended December 31st, 2013. (3 Points)

b) Construct Sosa Holiday Village Balance Sheet as of December 31st, 2013. (3 Points)

c) If management decided to distribute $ 1,750,000 to shareholders as dividends, calculate the retention ratio. (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

d) If Sosa Holiday Village has 954,450 shares outstanding, calculate the Earnings Per Share and Dividends Per Share. (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

e) What is the Average Tax Rate for Sosa Holiday Village in year 2013? (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

3. Suppose you would like to quadruple your investment. For this purpose, you deposited in a bank $ 225,365 to be compounded quarterly at an interest rate of 7.75 %. When (i.e. after how many years) will you be able to reach your goal? (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

4. Suppose you need to borrow an amount of money. Bank A offered you an 8 % interest rate compounded daily, Bank B offered you 8.10 % interest rate compounded weekly, Bank C offered you 8.15 % interest rate compounded monthly, and Bank D offered you 8.25 % interest rate compounded semi-annually. Among those very alternatives, which one would you chose? Why? (2 Points)

-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------

5. Ba wanted to buy a luxury brand car that costs $ 235,000. He took a 5-year mortgage loan with Quarterly payments at an annual rate of 9.25 %.

a) How much will Ba pay each year? (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) Fill in the amortization schedule. (3 Points)

	Period
	Amount Owed on the Principal (Beg. Year) ($)
	Annuity Payment ($)
	Interest Portion of the Annuity ($)
	Repayment of the Principal Portion of the Annuity ($)
	Outstanding Loan Balance ($)

	
	
	
	
	
	

	1
	 
	 
	 
	 
	 

	2
	 
	 
	 
	 
	 

	3
	 
	 
	 
	 
	 

	4
	 
	 
	 
	 
	 

	5
	 
	 
	 
	 
	 

	6
	 
	 
	 
	 
	 

	7
	 
	 
	 
	 
	 

	8
	 
	 
	 
	 
	 

	9
	 
	 
	 
	 
	 

	10
	
	
	
	
	

	11
	
	
	
	
	

	12
	
	
	
	
	

	13
	
	
	
	
	

	14
	
	
	
	
	

	15
	 
	 
	 
	 
	 

	16
	
	
	
	
	

	17
	
	
	
	
	

	18
	
	
	
	
	

	19
	
	
	
	
	

	20
	
	
	
	
	


c) Suppose that exactly after 3 years, mortgage interest rates fell to 6 %. If Ba has the chance to refinance his loan at that very interest, how much would he pay (on a yearly basis) for the remaining 2 years of the loan? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

d) If such a refinance opportunity is associated with paying a prepayment penalty fee to the bank of $ 3,440, would Ba refinance his loan? Why? Why not? (2 Points)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

6. BJK offered a player a long-term contract as follows:

· $ 580,640 now for contract signature

· $ 1,350,000 at the end of year 1 through 4

· $1,700,000 at the end of year 5

· $ 1,750,000 at the end of year 6 through 9

· $ 1,950,000 at the end of year 10

Suppose you told BJK that you prefer cash now rather than in different periods, how much would BJK be willing now to pay for the player so that both scenarios would be the same if the prevailing interest rate is 9.03 %? (2 Points)

Note: You have to use the strategy adopted in your textbook / class to solve this question. Other strategies will receive no grade.

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

7. Upon evaluation of the distribution of returns of Olcay company, the following possible rate of returns for the upcoming period as long as their probability of occurrence are estimated:

	Probability of Occurrence
	Rate of Return on Investment

	
	

	10%
	-12.25%

	12%
	-2.45%

	14%
	0.68%

	30%
	4.57%

	16%
	8.88%

	10%
	14.78%

	8%
	19.03%


a) Calculate the Expected Rate of Return of Olcay Company stock. (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) What is the risk of the investment in Olcay Company stock as measured using the standard deviation of possible future rates of return? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

8. Gökhan bought some stocks of Töre Company worth of 4,555,222 TL 8 years ago. Following is the beginning value of Gökhan’s bought stocks 8 years ago as well as the values at the end of each year up until today (the end of year 8):

	Year
	Annual Rate of Return
	Stock Value (TL)

	
	
	

	0
	 
	4,555,222.00

	1
	2.25%
	4,657,714.50

	2
	2.85%
	4,790,459.36

	3
	-1.01%
	4,742,075.72

	4
	-0.06%
	4,739,230.47

	5
	0.98%
	4,785,674.93

	6
	3.33%
	4,945,037.91

	7
	-0.22%
	4,934,158.82

	8
	-0.55%
	4,907,020.95


a) What will be the annual rate of return that Gökhan expects to earn next year, if he plans to continue holding Töre Company stocks? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) What annual rate of return that Gökhan expects over a multi-year horizon from holding Töre Company stocks? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

9. Suppose you recently graduated from Bilkent University Department of Tourism & Hotel Management and you are evaluating an investment in two companies’ common stocks. You have collected the following information about common stock of Firm A and Firm B:

	
	Expected Return
	Standard Deviation

	
	
	

	Firm A's Common Stock
	20.43%
	31.31%

	Firm B's Common Stock
	14.68%
	21.53%

	
	
	

	Correlation Coefficient (A - B)
	0.33


Furthermore, suppose you decided to invest 70 % of your fortune in company A’s common stock and the remaining in company B’s common stock.

a) What is the Expected Rate of Return on your selected portfolio? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) What is the Risk of your portfolio measured as a standard deviation? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

c) If the correlation coefficient between common stocks A & B returns falls to - 0.06, calculate the Expected Rate of Return and Risk on your portfolio? What do you conclude? (2 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

GOOD LUCK!
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